Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
165	Olson, Whitney	Weyerhauser	Resale	Resale	134	\$11.50	\$1,541.00	\$15.41	\$46.23	\$61.64
166	Fritz, Miley	Northstar Dental	Lower Valley Meats	Lower Valley Meats	133	\$15.50	\$2,061.50	\$20.62	\$61.85	\$82.46
169	McConkey, Kayla	Shield Arms	Lower Valley Meats	Lower Valley Meats	133	\$7.00	\$931.00	\$9.31	\$27.93	\$37.24
171	Boucher, Leo	CHS Mountain West Co-op	Lower Valley Meats	Lower Valley Meats	126	\$10.50	\$1,323.00	\$13.23	\$39.69	\$52.92
172	Young, Samantha	Angie's Greenhouse	Lower Valley Meats	Lower Valley Meats	125	\$7.25	\$906.25	\$9.06	\$27.19	\$36.25
173	Sommers, Reese	QISG	Lower Valley Meats	Lower Valley Meats	152	\$7.00	\$1,064.00	\$10.64	\$31.92	\$42.56
174	Rankosky, Cazzland	Northstar Dental	Lower Valley Meats	Lower Valley Meats	144	\$7.25	\$1,044.00	\$10.44	\$31.32	\$41.76
175	Young, Judith	Western Building Center	Resale	Resale	130	\$8.50	\$1,105.00	\$11.05	\$33.15	\$44.20
177	Stoddard, Tara	RDO Equipment	Resale	Resale	127	\$8.50	\$1,079.50	\$10.80	\$32.39	\$43.18
178	Wagar, Jenna	Northwest Parts & Equipment	Vandevanter	Vandevanter	141	\$7.00	\$987.00	\$9.87	\$29.61	\$39.48
180	Sargent, Laila	Sargent Transportation	None	Home Processing	140	\$45.00	\$6,300.00	\$63.00	\$189.00	\$252.00
181	Rosenthal, Nolan	Fencing Montana / Ash Paints Hair Color Studio	Lower Valley Meats	Lower Valley Meats	143	\$10.00	\$1,430.00	\$14.30	\$42.90	\$57.20
182	Fisher, Haley	Bass Ackwards Creation	Resale	Resale	146	\$8.00	\$1,168.00	\$11.68	\$35.04	\$46.72
183	Hayes, Wyatt	Johnsons Funeral Home	Lower Valley Meats	Lower Valley Meats	144	\$8.50	\$1,224.00	\$12.24	\$36.72	\$48.96
184	Desch, Nicolette	Glacier Massage	Vandevanter	Vandevanter	138	\$7.75	\$1,069.50	\$10.70	\$32.09	\$42.78

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
185	Hendrickson, Courtney	Glacier Ace Hardware	Lower Valley Meats	Lower Valley Meats	146	\$9.00	\$1,314.00	\$13.14	\$39.42	\$52.56
186	Heil, Eli	Glacier West Repair	Lower Valley Meats	Lower Valley Meats	149	\$9.00	\$1,341.00	\$13.41	\$40.23	\$53.64
187	Bergstedt, Beth	City Service Valcon	Lower Valley Meats	Lower Valley Meats	147	\$9.50	\$1,396.50	\$13.97	\$41.90	\$55.86
188	Boucher, Kylie	Kalispell Toyota	Vandevanter	Vandevanter	133	\$12.00	\$1,596.00	\$15.96	\$47.88	\$63.84
192	Wiedenmeyer, Freelin	Brad Abell	Lower Valley Meats	Lower Valley Meats	144	\$7.00	\$1,008.00	\$10.08	\$30.24	\$40.32
193	Wiedenmeyer, Royanne	Intergrity Property Management	Lower Valley Meats	Lower Valley Meats	131	\$7.50	\$982.50	\$9.83	\$29.48	\$39.30
194	Roth, Benjamin	Farm to Market Pork	None	Farm to Market Pork	124	\$8.00	\$992.00	\$9.92	\$29.76	\$39.68
195	McLean, Jayne	Les Schwab Tire Columbia Falls	Vandevanter	Vandevanter	138	\$8.00	\$1,104.00	\$11.04	\$33.12	\$44.16
196	Rosenthal, Samantha	Epaga Home Care	Lower Valley Meats	Lower Valley Meats	151	\$8.50	\$1,283.50	\$12.84	\$38.51	\$51.34
197	Middlemist, Ayden	Hill Brothers Auto Body	Lower Valley Meats	Lower Valley Meats	148	\$8.50	\$1,258.00	\$12.58	\$37.74	\$50.32
198	Middlemist, Halsey	Glacier Bank - Evergreen	Lower Valley Meats	Lower Valley Meats	150	\$13.50	\$2,025.00	\$20.25	\$60.75	\$81.00
199	Middlemist, Ryder	Les Schwab Tire Centers of Flathead Valley	Vandevanter	Vandevanter	154	\$30.00	\$4,620.00	\$46.20	\$138.60	\$184.80
201	Adams, Paige	Montana CAD	Lower Valley Meats	Lower Valley Meats	130	\$13.50	\$1,755.00	\$17.55	\$52.65	\$70.20
203	McLean, Jubilee	Northwest Parts & Equipment	Vandevanter	Vandevanter	149	\$8.50	\$1,266.50	\$12.67	\$38.00	\$50.66

Far	Colley News	Dunian	Chin To	D#*****	Mainkt	Dries	Value	Dung Dala		
Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
204	Sutton, Nolan	CM Wiley Inc.	Lower Valley Meats	Lower Valley Meats	132	\$10.00	\$1,320.00	\$13.20	\$39.60	\$52.80
206	Cummins, Corbyn	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	118	\$15.00	\$1,770.00	\$17.70	\$53.10	\$70.80
207	Aiken, Addy	Kalispell Volkswagon	Vandevanter	Vandevanter	132	\$9.00	\$1,188.00	\$11.88	\$35.64	\$47.52
208	Aiken, Cy	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	125	\$7.25	\$906.25	\$9.06	\$27.19	\$36.25
209	Olson, Evalyn	Brodehl Family	Lower Valley Meats	Lower Valley Meats	137	\$8.00	\$1,096.00	\$10.96	\$32.88	\$43.84
214	McGuire, Tatum	Angie's Greenhouse	Lower Valley Meats	Lower Valley Meats	124	\$8.50	\$1,054.00	\$10.54	\$31.62	\$42.16
215	McGuire, Harper	CM Wiley Inc.	Lower Valley Meats	Lower Valley Meats	143	\$10.00	\$1,430.00	\$14.30	\$42.90	\$57.20
216	Morrison, William	Trail West Bank	Lower Valley Meats	Lower Valley Meats	127	\$7.50	\$952.50	\$9.53	\$28.58	\$38.10
218	Heil, Eva	406 Motors of Kalispell	Vandevanter	Vandevanter	127	\$12.00	\$1,524.00	\$15.24	\$45.72	\$60.96
220	Rudiger, Bodie	The Ranchers Daughter	Vandevanter	Vandevanter	151	\$9.50	\$1,434.50	\$14.35	\$43.04	\$57.38
222	Braaten, Emmalynn	Flathead Electric CO-OP	Lower Valley Meats	Lower Valley Meats	139	\$9.00	\$1,251.00	\$12.51	\$37.53	\$50.04
223	Kallenberger, Riley	FH Stoltze Land & Lumber Co.	Vandevanter	Vandevanter	117	\$10.00	\$1,170.00	\$11.70	\$35.10	\$46.80
224	Kallenberger, Arena	Western Ranch Supply	Resale	Resale	118	\$9.00	\$1,062.00	\$10.62	\$31.86	\$42.48
225	Owens, Mary	LaSalle Equine Clinic	Lower Valley Meats	Lower Valley Meats	152	\$15.50	\$2,356.00	\$23.56	\$70.68	\$94.24
226	Fant, Shelby	Corwin Motors	Vandevanter	Vandevanter	152	\$12.50	\$1,900.00	\$19.00	\$57.00	\$76.00
227	Fant, Wyatt	Kalispell Murdoch's	Resale	Resale	145	\$11.50	\$1,667.50	\$16.68	\$50.03	\$66.70

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
228	Brist, Garrett	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	129	\$11.50	\$1,483.50	\$14.84	\$44.51	\$59.34
229	Brist, Naomi	RDO Equipment	Resale	Resale	146	\$7.50	\$1,095.00	\$10.95	\$32.85	\$43.80
230	Brist, Emma	Norm's News & Western Outdoor	Resale	Resale	135	\$9.50	\$1,282.50	\$12.83	\$38.48	\$51.30
232	Knodel, Kashlynn	Columbia Falls Murdoch's	Resale	Resale	138	\$13.50	\$1,863.00	\$18.63	\$55.89	\$74.52
236	Tuck, Marian	CHS Mountain West Co-op	Lower Valley Meats	Lower Valley Meats	130	\$9.00	\$1,170.00	\$11.70	\$35.10	\$46.80
237	Tuck, Lisa	Advanced Refrigeration	Lower Valley Meats	Lower Valley Meats	130	\$10.00	\$1,300.00	\$13.00	\$39.00	\$52.00
240	Jones, Amber	Flathead Electric CO-OP	Lower Valley Meats	Lower Valley Meats	121	\$8.50	\$1,028.50	\$10.29	\$30.86	\$41.14
241	Davis, Kristopher	Jance's Body Shop	Lower Valley Meats	Lower Valley Meats	150	\$8.75	\$1,312.50	\$13.13	\$39.38	\$52.50
242	Bernier, Wyatt	Flathead County Sherriff Employees Association	Lower Valley Meats	Lower Valley Meats	126	\$11.00	\$1,386.00	\$13.86	\$41.58	\$55.44
243	Bean, McKinley	Lower Valley Processing	Lower Valley Meats	Lower Valley Meats	148	\$20.00	\$2,960.00	\$29.60	\$88.80	\$118.40
250	Morrison, Paige	Les Schwab Tire Center Street	Resale	Resale	141	\$10.00	\$1,410.00	\$14.10	\$42.30	\$56.40
253	Shelton, Audrie	Western Building Center	Lower Valley Meats	Lower Valley Meats	120	\$8.50	\$1,020.00	\$10.20	\$30.60	\$40.80
269	Rudiger, Brantley	Glacier Bank - Kalispell	Lower Valley Meats	Lower Valley Meats	154	\$9.50	\$1,463.00	\$14.63	\$43.89	\$58.52
	Avg: \$10.75 Min: \$7.00 Max: \$45.00					Total:	\$86,031.50	\$860.38	\$2,581.02	\$3,441.26